
BORONIA TOWBARS P/L 
1/12 EDINA RD 

FERNTREE GULLY 
VIC 3156 

(03) 9752 2642 
 
 
 
 

KIA5 FITTING INSTRUCTIONS 
PREGIO VAN 2004 – 

 
 
 
 
REMOVE SPARE WHEEL 
FIT FOUR 1/12 x 3/8 BOLTS WITH FLAT WASHERS SUPPLIED TO EXISTING 
HOLES AT REAR OF SPRING SHACKLE MOUNTING AREA. 
PLACE TOWBAR INTO POSITION ALIGNING WITH BOLTS FITTED, FIT 
FLAT & SPRING WASHERS WITH NUTS – TIGHTEN. 
DRILL (10mm) HOLES (2) VIA TOWBAR UPRIGHTS, FIT (2) 10mm TAPPED 
PLATES ON WIRE VIA EXISTING LARGE HOLE, ALIGN WITH DRILLED 
HOLES, FIT 10mm BOLTS COMPLETE WITH SPRING & FLAT WASHERS – 
TIGHTEN. 
FIT WIRE TO BOLT SUPPLIED VIA HOLE IN SIDE OF PASSENGER SIDE 
CHASSIS THEN THROUGH ORIGINAL HOLE IN BASE OF CHASSIS & 
FINALLY THROUGH TOWBAR MOUNTING BRACKET HOLE, FIT NUT 
WITH SPRING & FLAT WASHER – TIGHTEN. 
CHECK ALL BOLTS FOR TIGHTNESS. 
REFIT SPARE WHEEL. 
 
 
FITTING KIT: 
 
 
4 – 11/2 x 3/8 BOLTS, NUTS & SPRING WASHERS. 
1 – 11/2 x 3/8 BOLT ON WIRE, NUT & SPRING WASHER. 
2 – 10 x 35mm FINE BOLTS & SPRING WASHERS. 
2 – 10mm TAPPED PLATES ON WIRE. 
11- 10mm FLAT WASHERS. 
1 – DEE SHACKLE. 


